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1. The term biosphere used for the zone of earth

where life exists is

A. On the lithosphere


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LkxNk3Lg5VkL

B. In the hydrosphere

C. In the lithosphere and hydrosphere

D.In  the lithosphere, hydrosphere and

atomsphere

Answer: D

o Watch Video Solution

2.Biosphere is :

A. In which individual interact to each other

B. By which life originated


https://dl.doubtnut.com/l/_LkxNk3Lg5VkL
https://dl.doubtnut.com/l/_aGSGItoNDZa9

C.The name of a bird

D. Organic compound by which life diminishes

Answer: A

° Watch Video Solution

3. Which is not a renewable source?

A. Forest

B. Coal

C. Water

D. Forest organism


https://dl.doubtnut.com/l/_aGSGItoNDZa9
https://dl.doubtnut.com/l/_l8xRdfzZN4vg

Answer: B

° Watch Video Solution

4. Noosphere is synomyms of :

A. Environment

B. Atmosphere

C. Hydrosphere

D. Biosphere

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_l8xRdfzZN4vg
https://dl.doubtnut.com/l/_1ds3orXdTk4m

5. All living organisms on the earth constitute :

A. Biome

B. Biosphere

C. Community

D. Biocoenosis

Answer: B

° Watch Video Solution

6. Biosphere refers to


https://dl.doubtnut.com/l/_1ds3orXdTk4m
https://dl.doubtnut.com/l/_eWtwv1xHmiIv
https://dl.doubtnut.com/l/_PJYeWGCUZqMu

A. Plants of the world

B. Special plants

C. Area occupied by living beings

D. Plants of a particular area

Answer: C

° Watch Video Solution

7. What is the correct sequence of atmosphere

layers starting from earth?


https://dl.doubtnut.com/l/_PJYeWGCUZqMu
https://dl.doubtnut.com/l/_g3AukPK33Kxu

A. Stratosphere,  troposphere, = mesosphere,

thermosphere

B. Troposphere,  stratosphere, @ mesosphere,

thermosphere

C. Mesosphere,  troposphere, stratosphere,

thermosphere

D. Thermosphere, mesosphere, stratosphere,

troposphere

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_g3AukPK33Kxu
https://dl.doubtnut.com/l/_uzgPkoOJQMeI

8. All living organisms on the earth constitute :

A. Community

B. Biome

C. Association

D. Biosphere

Answer: D

° Watch Video Solution

9. A biosphere is composed of :


https://dl.doubtnut.com/l/_uzgPkoOJQMeI
https://dl.doubtnut.com/l/_6xkbaa7KwgUs

A. Living organisms

B. Living organisms+lithosphere

C. Living organisms+lithosphere+atmoosphere

D. Living

organisms+lithosphere+atmosphere+hydrosphere

Answer: D

o Watch Video Solution

10. Pollution can be controlled by

A. Sewage treatment


https://dl.doubtnut.com/l/_6xkbaa7KwgUs
https://dl.doubtnut.com/l/_s2ysrJ9PyWN8

B. Chacking atomic blasts

C. Manufacturing electrically operated vehicles

D. All the above

Answer: D

° Watch Video Solution

11. If water pollution continues at its present rate, it

will eventually

A. Stop water cycle

B. Prevent precipitation


https://dl.doubtnut.com/l/_s2ysrJ9PyWN8
https://dl.doubtnut.com/l/_Dd3ixI2bYKu4

C. Make oxygen molecules unavailable to water

plants

D. Make nitrogen molecules unavailable to water

plants

Answer: C

o Watch Video Solution

12. Recent reports of acid rains industrial cities are

due to the effect of atmospheric pollution by


https://dl.doubtnut.com/l/_Dd3ixI2bYKu4
https://dl.doubtnut.com/l/_E7f6vXqgG729

A. Excessive release of NOy and SO, by burning

of fossil fuels

B. Excessive release of C'O, by burning of fuel

like wood and charcoal, cutting of forests and

increased animal population.

C. Excessive release of NHj3 by industrial plants

and coal gas

D. Excessive release of C'O in atmosphere by

incomplete combustion of cock, charcoal and

other carbonaceous fuels in pancity of oxygen.

Answer: A


https://dl.doubtnut.com/l/_E7f6vXqgG729

° Watch Video Solution

13. Pollution is change in physical, chemical or

biological characters of our land and water that may

be:

A. Desirable and harmful to human

B. Desirable and useful to human

C. Undesirable and harmful to human

D. Undesirable and useful to human

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_E7f6vXqgG729
https://dl.doubtnut.com/l/_AWE4LfH9uGhM

14. Which is the greatest air pollutant these days?

A. Factories

B. Moto vehicles

C. Domestic appliances

D. Animals

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AWE4LfH9uGhM
https://dl.doubtnut.com/l/_TkCUIYo5xFw5

15. Removal of the soil by the action of wind and

water is known as

A. Erosion

B. Fossilization

C. Leaching

D. Calcification

Answer: A

o Watch Video Solution

16. Acid rain occur due to atmosphere pollution of:


https://dl.doubtnut.com/l/_rP2pDLl2qGdK
https://dl.doubtnut.com/l/_MwnBdAqMxWni

A. S50,

B. NI,

C.CO,

D. N>O

Answer: A

° Watch Video Solution

17. An increase in C'Oy concentration in atmosphere

will result in:

A. Adverse effects of natural vegatation


https://dl.doubtnut.com/l/_MwnBdAqMxWni
https://dl.doubtnut.com/l/_K7KFwWaO0VPD

B. Global warming

C. Temperature decrease in global atmosphere

D. Genetic disorders in plants and animals

Answer: B

° Watch Video Solution

18. Planting more and more trees helps to :

A. Reduce CO, in the air
B. increase C'O, in the air

C. reduce O, in the air


https://dl.doubtnut.com/l/_K7KFwWaO0VPD
https://dl.doubtnut.com/l/_FdF4XgumyLvB

D. reduce C'O, and increase O, in the air

Answer: D

o Watch Video Solution

19. The basic component of smog is:

A. PAN

B. PBN

C. NO,

D. All of these

Answer: C


https://dl.doubtnut.com/l/_FdF4XgumyLvB
https://dl.doubtnut.com/l/_iNBhrlyi75fs

° Watch Video Solution

20. Which of the following protects life on earth

from harmful effects of UV radiations from sun?

A N,

B. CO,

C. O,

D. O4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iNBhrlyi75fs
https://dl.doubtnut.com/l/_xdpEiC47rkcM

21. The ozone layer forms naturally by:

A. CFC with oxygen

B. UV radiation with oxygen

C. IR radiation with oxygen

D. oxygen and water vapour

Answer: B

o Watch Video Solution

22. Fishes die in water bodies polluted by sewage

dueto:


https://dl.doubtnut.com/l/_LVWYZoporq2Z
https://dl.doubtnut.com/l/_XgoHkbBxnFDR

A. pathogens

B. reduction of oxygen

C. foul smell

D. none of these

Answer: B

° Watch Video Solution

23. Main pollutant from automobile exhaust is :

A.CO

B.CO,


https://dl.doubtnut.com/l/_XgoHkbBxnFDR
https://dl.doubtnut.com/l/_yIhA3xNoQTQr

C.NO

D. hydrocarbons

Answer: A

° Watch Video Solution

24. Ultraviolet radiation is absorbed by

A. exosphere

B. ionosphere

C. mesosphere

D. stratosphere


https://dl.doubtnut.com/l/_yIhA3xNoQTQr
https://dl.doubtnut.com/l/_r7GmUhbawH38

Answer: D

° Watch Video Solution

25. The global warming has resulted in

A. flood

B. cyclone

C. decrease in forest productivity

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r7GmUhbawH38
https://dl.doubtnut.com/l/_yaQuNtxgDU04

26.BHC and DDT act as:

A. carcinogens

B. allergens

C. asthmatic agents

D. All of these

Answer: A

o Watch Video Solution

27. Which of the following statements is wrong?


https://dl.doubtnut.com/l/_yaQuNtxgDU04
https://dl.doubtnut.com/l/_Wq7hQMXGR2Ub
https://dl.doubtnut.com/l/_pnfMwp8CPDh7

A. Polar stratosphere clouds (PSCs) are clouds

formed over Antarctica

B. Acid rain dissolves heavy metals such as Cu ,Pb,

Hg and Al from soils, rocks and sediments.

C. H,50, is major contributor to acid rain,

HNQOs3 ranks second and HCI third in this

respect

D. Fishes grow as well in warm as in cold water

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pnfMwp8CPDh7
https://dl.doubtnut.com/l/_l4CYAgK5KqzA

28. Ozone depletion in the stratosphere is primarily

due to

A. SO,

B. NO,

C.NO

D. chlorofluorocarbons

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_l4CYAgK5KqzA

29. Persons working in cement plants and lime stone

quarries are more prone to disease like:

A. asthma

B. cancer

C.silicosis

D. pneumoconiosis

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_e0nt6sIzyCMG

30. The term biosphere used for the zone of earth

where life exists is

A. On the lithosphere

B. In the hydrosphere

C.In the lithosphere and hydrosphere

D.In the lithosphere, hydrosphere

atomsphere

Answer: D

and

o Watch Video Solution



https://dl.doubtnut.com/l/_07racrgMIK4Z

31.Biosphere is :

A. In which individual interact to each other

B. By which life originated

C. The name of a bird

D. Organic compound by which life diminishes

Answer: A

o Watch Video Solution

32. Which is not a renewable source?


https://dl.doubtnut.com/l/_IX1HIdSPLGCb
https://dl.doubtnut.com/l/_0skR3B2SmU47

A. Forest

B. Coal

C. Water

D. Forest organism

Answer: B

o Watch Video Solution

33. Noosphere is synomyms of :

A. Environment

B. Atmosphere


https://dl.doubtnut.com/l/_0skR3B2SmU47
https://dl.doubtnut.com/l/_FNzJKhnMAGTL

C. Hydrosphere

D. Biosphere

Answer: A

° Watch Video Solution

34. All living organisms on or around the Earth

constitute:

A. Biome

B. Biosphere

C. Community


https://dl.doubtnut.com/l/_FNzJKhnMAGTL
https://dl.doubtnut.com/l/_EJbn2kGBxsDD

D. Biocoenosis

Answer: B

o Watch Video Solution

35. Biosphere refers to

A. Plants of the world

B. Special plants

C. Area occupied by living beings

D. Plants of a particular area

Answer: C


https://dl.doubtnut.com/l/_EJbn2kGBxsDD
https://dl.doubtnut.com/l/_fdbdP8130EJc

o Watch Video Solution

36. What is the correct sequence of atmosphere

layers starting from earth?

A. Stratosphere,  troposphere, = mesosphere,

thermosphere

B. Troposphere,  stratosphere, = mesosphere,

thermosphere

C. Mesosphere,  troposphere, stratosphere,

thermosphere


https://dl.doubtnut.com/l/_fdbdP8130EJc
https://dl.doubtnut.com/l/_RbV951VfbUlT

D. Thermosphere, mesosphere, stratosphere,

troposphere

Answer: B

o Watch Video Solution

37.0n earth all living organisms constitute:

A. Community

B. Biome

C. Association

D. Biosphere


https://dl.doubtnut.com/l/_RbV951VfbUlT
https://dl.doubtnut.com/l/_hsCydyMPBNaP

Answer: D

° Watch Video Solution

38. A biosphere is composed of

A. Living organisms

B. Living organisms+lithosphere

C. Living organisms+lithosphere+hydrosphere

D. Living organisms+lithosphere+atmosphere

hydrosphere

Answer: D



https://dl.doubtnut.com/l/_hsCydyMPBNaP
https://dl.doubtnut.com/l/_OZwuA1VTEgVC

‘ ° Watch Video Solution

39. Pollution can be controlled by

A. Sewage treatment

B. Chacking atomic blasts

C. Manufacturing electrically operated vehicles

D. All the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OZwuA1VTEgVC
https://dl.doubtnut.com/l/_kBsLxs31uo7M

40. If water pollution continues at its present rate, it

will eventually

A. Stop water cycle

B. Prevent precipitation

C. Make oxygen molecules unavailable to water

plants

D. Make nitrogen molecules unavailable to water

plants

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wQkXF8Ce7HOX

41. Recent reports of acid rains industrial cities are

due to the effect of atmospheric pollution by

A. Excessive release of NOy and SO- by burning

of fossil fuels

B. Excessive release of C'O, by burning of fuel

like wood and charcoal, cutting of forests and

increased animal population.

C. Excessive release of NHj3 by industrial plants

and coal gas

D. Excessive release of CO in atmosphere by

incomplete combustion of cock, charcoal and


https://dl.doubtnut.com/l/_arCVOoCcIC9O

other carbonaceous fuels in pancity of oxygen.

Answer: A

o Watch Video Solution

42. Pollution is change in physical, chemical or

biological characters of our land and water that may

be:

A. Desirable and harmful to human

B. Desirable and useful to human

C. Undesirable and harmful to human


https://dl.doubtnut.com/l/_arCVOoCcIC9O
https://dl.doubtnut.com/l/_QJSb33FDeLY8

D. Undesirable and useful to human

Answer: C

o Watch Video Solution

43. Which is the greatest air pollutant these days?

A. Factories
B. Moto vehicles
C. Domestic appliances

D. Animals

Answer: B


https://dl.doubtnut.com/l/_QJSb33FDeLY8
https://dl.doubtnut.com/l/_9WHPLJepmqNg

° Watch Video Solution

44. Removal of the soil by the action of wind and

water is known as

A. Erosion

B. Fossilization

C. Leaching

D. Calcification

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9WHPLJepmqNg
https://dl.doubtnut.com/l/_z3aSZPZDWVkb

45, Acid rain occur due to atmosphere pollution of:

A. SO,

B. NI,

C.CO,

D. N;O

Answer: A

o Watch Video Solution

46. An increase in CO, concentration in atmosphere

will result in:


https://dl.doubtnut.com/l/_oNe5K8cqCECP
https://dl.doubtnut.com/l/_SYXaK1TpHW49

A. Adverse effects of natural vegatation

B. Global warming

C. Temperature decrease in global atmosphere

D. Genetic disorders in plants and animals

Answer: B

o Watch Video Solution

47.Planting more and more trees helps to :

A. Reduce CO, in the air

B. increase C'O, in the air


https://dl.doubtnut.com/l/_SYXaK1TpHW49
https://dl.doubtnut.com/l/_x8QbpsrgWbCg

C.reduce O, in the air

D. reduce C'O, and increase O, in the air

Answer: D

° Watch Video Solution

48. The basic component of smog is:

A. PAN

B. PBN

C. NO,

D. All of these


https://dl.doubtnut.com/l/_x8QbpsrgWbCg
https://dl.doubtnut.com/l/_zB8TQ7D00KWt

Answer: C

o Watch Video Solution

49, Which of the following protects life on earth

from harmful effects of UV radiations from sun?

A N,

B.CO,

C. O,

D. O,

Answer: D



https://dl.doubtnut.com/l/_zB8TQ7D00KWt
https://dl.doubtnut.com/l/_SxDIlKROSkKG

| QJ Watch Video Solution

50. The ozone layer forms naturally by the

interaction of:

A. the interaction of CFC with oxygen

B. the interaction of UV radiation with oxygen

C. the interaction of IR radiation with oxygen

D. the interaction of oxygen and water vapour

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SxDIlKROSkKG
https://dl.doubtnut.com/l/_1Mdlvyr7xMfj
https://dl.doubtnut.com/l/_Ie0CM6qBlC30

51. Fishes die in water bodies polluted by sewage

dueto:

A. pathogens

B. reduction of oxygen

C. foul smell

D. none of these

Answer: B

o Watch Video Solution

52. Main pollutant from automobile exhaust is :


https://dl.doubtnut.com/l/_Ie0CM6qBlC30
https://dl.doubtnut.com/l/_ak7YTEQxZqkI

A.CO

B. CO,

C.NO

D. hydrocarbons

Answer: B

o Watch Video Solution

53. Ultraviolet radiation is absorbed by

A. exosphere

B. ionosphere


https://dl.doubtnut.com/l/_ak7YTEQxZqkI
https://dl.doubtnut.com/l/_60MLUkhiip0x

C. mesosphere

D. stratosphere

Answer: D

° Watch Video Solution

54. Global warming may result in :

A. flood

B. cyclone

C. decrease in forest productivity

D. All of these


https://dl.doubtnut.com/l/_60MLUkhiip0x
https://dl.doubtnut.com/l/_WxjpcaYLnxao

Answer: D

° Watch Video Solution

55.BHC and DDT act as:

A. carcinogens

B. allergens

C. asthmatic agents

D. All of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WxjpcaYLnxao
https://dl.doubtnut.com/l/_SGmHInL4emoc

56. Which of the following statements is wrong?

A. Polar stratosphere clouds (PSCs) are clouds

formed over Antarctica

B. Acid rain dissolves heavy metals such as Cu ,Pb,

Hg and Al from soils, rocks and sediments.

C. H,SO4 is major contributor to acid rain,

HNQOs3 ranks second and HCl third in this

respect

D. Fishes grow as well in warm as in cold water


https://dl.doubtnut.com/l/_SGmHInL4emoc
https://dl.doubtnut.com/l/_B27YOkMEgv1d

Answer: D

o Watch Video Solution

57. Ozone depletion in the stratosphere is primarily

due to

A. SO,

B. NO,

C.NO

D. chlorofluorocarbons

Answer: D



https://dl.doubtnut.com/l/_B27YOkMEgv1d
https://dl.doubtnut.com/l/_7fADT6q5qpBc

| QJ Watch Video Solution

58. Persons working in cement plants and lime stone

quarries are more prone to disease like:

A. asthma

B. cancer

C.silicosis

D. pneumoconiosis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7fADT6q5qpBc
https://dl.doubtnut.com/l/_hCz980MPIjul

1. Which of the following gases is not green house

gas ?

A.CO

B. Os

C.CHy

D. H,O vapour

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EQNhtiFlcXHN
https://dl.doubtnut.com/l/_YpzHMLoMaLgB

2. Photochemical smog occurs in warm, dry and
sunny climate. One of the following is not amongst

the components of photochemical smog, identify it .

A.NO,

B. Os

C. SO,

D. Unsaturated hydrocarbon

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YpzHMLoMaLgB

3. Which of the following statements is not true

about classical smog ?

A.lts main components are produced by the

action of sunlight on emissions of

automobiles and factories

B. Produced in cold and humid climate

C. It contains compounds of reducing nature

D. It contain's smoke for and sulphur dioxide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1r1A62ydwKDN

4. Biochemical Oxygen Demand, (BOD) is a measure

of organic material present in water. BOD value less

than dppm indicates a water sample to be

A.rich in dissolved oxygen

B. poor in dissolved oxygen

C. highly polluted

D. not suitable for aquatic life

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Q7ECXHWzriBn

5. Which of the following statements is wrong?

A. Ozone is produced in upper stratosphere by

the action of UV rays on oxygen

B. Ozon can oxidize sulphur dioxide present in

the atmosphere to sulphur trioxide

C. Ozone hole is thining of ozone layer present in

stratosphere

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iQ5hj5qEccFI

6. Sewage containing organic waste should not be
disposed in water bodies because it causes major
water pollution. Fishes in such a polluted water die
because of
A. Large number of mosquitos
B. Increase in the amount of dissolved oxygen in
water

C. decrease in the amount of dissolved oxygen

D. Clogging of gills by mud

Answer: C

| = |


https://dl.doubtnut.com/l/_iQ5hj5qEccFI
https://dl.doubtnut.com/l/_vwLsCUpUcE7t

| §&F Watch Video Solution

7. Which of the following statements about

photochemical smog is wrong ?

A. It has high concentration of oxidising agents

B. It has low concentration of oxidising agent

C. It can be controlled by controlling the release

of NO, hydrogcarbons, ozone etc

D. Planation of some plants like pinus helps in

controlling photochemical smog

Answer: B


https://dl.doubtnut.com/l/_vwLsCUpUcE7t
https://dl.doubtnut.com/l/_EJHaZ7OeVWq7

° Watch Video Solution

8. The gaseous envelope around the earth is known

as atmosphere. The lowest layer of this is extended

upto 10 km from sea level , this layer is

A. Stratosphere

B. Troposphere

C. Mesosphere

D. Hydrosphere

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EJHaZ7OeVWq7
https://dl.doubtnut.com/l/_9MTfvHriCqxN

9.Dinitrogen and dioxygen are main constituents of
air but these do not react with each other to form
oxides of nitrogen because
A. the reaction is endothermic and requires very
high temperature
B. the reaction can be intiated only in presence
of a catalyst

C. oxides of nitrogen are unstable

D. N, and O, are unreactive

Answer: A


https://dl.doubtnut.com/l/_9MTfvHriCqxN
https://dl.doubtnut.com/l/_dxWZ4VZjgb76

o Watch Video Solution

10. The pollutants which come directly in the air
from sources are called primary pollutes. Primary
polluants are sometimes converted into secondary
pollutants. Which of the following belongs to

secondary air pollutants ?

A.CO

B. Hydrocarbon

C. Peroxyacetyl nitrate

D.NO


https://dl.doubtnut.com/l/_dxWZ4VZjgb76
https://dl.doubtnut.com/l/_FF3SWbqGIqHN

Answer: C

o Watch Video Solution

11. Which of the following statement is correct ?

A.Ozone hole is hole formed in stratosphere

from which ozone oozes out.

B.Ozone holes is a hole formed in the

troposphere at some places

C.Ozone hole is thining ozone layer of

stratosphere at some places


https://dl.doubtnut.com/l/_FF3SWbqGIqHN
https://dl.doubtnut.com/l/_19Yzs9BxcR0r

D. Ozone hole means vanishing of ozone layer

around the earth completely

Answer: C

o Watch Video Solution

12. Which of the following practices will not come

under green chemistry?

A.lt possible making use of soap made of

vegatable oils instead of using synthetic

detergents


https://dl.doubtnut.com/l/_19Yzs9BxcR0r
https://dl.doubtnut.com/l/_4DtM8appOrKi

B. Using H,O5 for bleaching purpose instead of

using chlorine based bleaching agents

C.Using bicycle for travelling small distances

instead of using petrol/diesel based vehicles

D.Using plastic cans for nearly storing

substances

Answer: D

o Watch Video Solution

13. Which of the following acts as rocket

propellants?


https://dl.doubtnut.com/l/_4DtM8appOrKi
https://dl.doubtnut.com/l/_252YZDck5Ie1

A. Liq.H5+Liq.0O5

C. Lig.Ho+Liq.N,

D. Liq.O5+Lig. Argon

Answer: A

° Watch Video Solution

14. When rain is accompanied by a thunderstorm,

the collected rain water will have pH?


https://dl.doubtnut.com/l/_252YZDck5Ie1
https://dl.doubtnut.com/l/_75nNZwn9JSNh

A.slightly lower than that of rain water without

thunderstorm

B. slightly higher than that of rain water without

thunderstorm

C. uninfluenced by occurrence of thunderstorm

D. which depends on amount of dust in air

Answer: A

o Watch Video Solution

15. The smog is essentially caused by the presence

of:


https://dl.doubtnut.com/l/_75nNZwn9JSNh
https://dl.doubtnut.com/l/_1RFJ1jggJbVJ

A. 03 and Nz

B. 02 and N2

C. Oxides of sulphur and NV,

D. O, and Oj

Answer: C

° Watch Video Solution

16. Ozone in stratosphere is depleted by:

A.CF,(Cl,

B. C7F16


https://dl.doubtnut.com/l/_1RFJ1jggJbVJ
https://dl.doubtnut.com/l/_ZQylnGVfijdd

Answer: A

o Watch Video Solution

17. Which of the following is responsible for
depletion of the ozone layer in the upper strata of
the atmosphere :-

A. Polyhalogens

B. Ferrocene


https://dl.doubtnut.com/l/_ZQylnGVfijdd
https://dl.doubtnut.com/l/_32PMglusc5IT

C. Fullerenes

D. Freons

Answer: D

o Watch Video Solution

18. Identify the wrong statements in the following:

A. Chlorofluorocarbons are responsible for ozone

layer depletion

B. Green house effect is responsible for global

warming


https://dl.doubtnut.com/l/_32PMglusc5IT
https://dl.doubtnut.com/l/_ZixXfDhIZPdw

C. Ozone layer does not permit infrated from the

sun to reach the earth.

D.Acid rain is mostly because of oxides of

nitrogen and sulphur

Answer: C

o Watch Video Solution

19. Identify the wrong statements in the following:

A. Oxides of nitrogen in the atmosphere can

cause the depletion of ozone layer


https://dl.doubtnut.com/l/_ZixXfDhIZPdw
https://dl.doubtnut.com/l/_ObobqgG7Pzsh

B.Ozone absorbs the intense ultraviolet

radiation of the sun

C. Depletion of ozone layer is because of its

chemical reactions with chlorofluoro alkanes

D. Ozone absorbs infra red radiations

Answer: D

o Watch Video Solution

20. What is DDT among the following :

A. Green house gas


https://dl.doubtnut.com/l/_ObobqgG7Pzsh
https://dl.doubtnut.com/l/_Hp7SIJIZFwQ2

B. A fertilizer

C. Biodegradable pollutant

D. Non-biodegradable pollutant

Answer: D

° Watch Video Solution

21. The gas leaked from a storage tank of the Union

Carbide plant in Bhopal gas tragedy was

A. Phosgene

B. Methyl isocyanate


https://dl.doubtnut.com/l/_Hp7SIJIZFwQ2
https://dl.doubtnut.com/l/_pzeoxYKo42Rq

C. Methyl amine

D. Ammonia

Answer: B

° Watch Video Solution

22. Which of the following gases is not green house

gas ?

A.CO

B. Os

C.CH,


https://dl.doubtnut.com/l/_pzeoxYKo42Rq
https://dl.doubtnut.com/l/_VMMOlSkwsxZB

D. H,O vapour

Answer: A

o Watch Video Solution

23. Photochemical smog occurs in warm, dry and

sunny climate, One of the following is not amongst

the components of photochemical smog, identify it.

A.NO,

B. O3

C. SO,


https://dl.doubtnut.com/l/_VMMOlSkwsxZB
https://dl.doubtnut.com/l/_nrQv6Ipq7gYn

D. Unsaturated hydrocarbon

Answer: C

o Watch Video Solution

24. Which of the following statements is not true

about classical smog ?

A.lts main components are produced by the

action of sunlight on emissions of

automobiles and factories

B. Produced in cold and humid climate


https://dl.doubtnut.com/l/_nrQv6Ipq7gYn
https://dl.doubtnut.com/l/_sSqk34gzPfG8

C. It contains compounds of reducing nature

D. It contain's smoke for and sulphur dioxide

Answer: A

o Watch Video Solution

25. Biochemical Oxygen Demand, (BOD) is a measure

of organic material present in water. BOD value less

than Sppm indicates a water sample to be

A.rich in dissolved oxygen

B. poor in dissolved oxygen


https://dl.doubtnut.com/l/_sSqk34gzPfG8
https://dl.doubtnut.com/l/_mclgdghM9wrQ

C. highly polluted

D. not suitable for aquatic life

Answer: A

o Watch Video Solution

26. Which of the following statements is wrong?

A. Ozone is produced in upper stratosphere by

the action of UV rays on oxygen

B. Ozon can oxidize sulphur dioxide present in

the atmosphere to sulphur trioxide


https://dl.doubtnut.com/l/_mclgdghM9wrQ
https://dl.doubtnut.com/l/_oZCpSfJ8wPFd

C. Ozone hole is thining sulphur dioxide present

in the stratosphere

D. none of these

Answer: C

° Watch Video Solution

27. Sewage containing organic waste should not be
disposed in water bodies because it causes major
water pollution . Fish in such a polluted water die

because of

A. Large number of mosquitos


https://dl.doubtnut.com/l/_oZCpSfJ8wPFd
https://dl.doubtnut.com/l/_vleNxUW8Na1i

B. Increase in the amount of dissolved oxygen in

water

C. decrease in the amount of dissolved oxygen

D. Clogging of gills by mud

Answer: C

o Watch Video Solution

28. Which of the following statement about

photochemical smog is wrong ?

A. It has high concentration of oxidising agents


https://dl.doubtnut.com/l/_vleNxUW8Na1i
https://dl.doubtnut.com/l/_XDqKYHKXXd9M

B. It has low concentration of oxidising agent

C. It can be controlled by controlling the release

of NO, hydrogcarbons, ozone etc

D. Planation of some plants like pinus helps in

controlling photochemical smog

Answer: B

° Watch Video Solution

29. The gaseous envelope around the earth is known
as atmosphere. The lowest layer of this is extended

upto 10 km from sea level , this layer is


https://dl.doubtnut.com/l/_XDqKYHKXXd9M
https://dl.doubtnut.com/l/_bFmdYlRn0ZXq

A. Stratosphere

B. Troposphere

C. Mesosphere

D. Hydrosphere

Answer: B

o Watch Video Solution

30. Dinitrogen and dioxygen are main constituents
of air but these do not react with each other to form

oxide of nitrogen because. .. ... ....


https://dl.doubtnut.com/l/_bFmdYlRn0ZXq
https://dl.doubtnut.com/l/_fIT8Mvw3YyPw

A. the reaction is endothermic and requires very

high temperature

B. the reaction can be intiated only in presence

of a catalyst

C. oxides of nitrogen are unstable

D. N, and O, are unreactive

Answer: A

o Watch Video Solution

31. The pollutants which come directly in the air

from sources are called primary pollutes. Primary


https://dl.doubtnut.com/l/_fIT8Mvw3YyPw
https://dl.doubtnut.com/l/_1MQxXL5kryQ6

polluants are sometimes converted into secondary
pollutants. Which of the following belongs to

secondary air pollutants ?

A.CO

B. Hydrocarbon

C. Peroxyacetyl nitrate

D.NO

Answer: C

o Watch Video Solution

32. Which of the following statement is correct?


https://dl.doubtnut.com/l/_1MQxXL5kryQ6
https://dl.doubtnut.com/l/_81vjiJkR7lvw

A. Ozone hole is hole formed in stratosphere

from which ozone oozes out.

B.Ozone holes is a hole formed in the

troposphere at some places

C.Ozone hole is thining ozone layer of

stratosphere at some places

D. Ozone hole means vanishing of ozone layer

around the earth completely

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_81vjiJkR7lvw
https://dl.doubtnut.com/l/_wLFmbyQ8LD0b

33. Which of the following practices will not come

under green chemistry?

A.lt possible making use of soap made of

vegatable oils instead of using synthetic

detergents

B. Using Hy05 for bleaching purpose instead of

using chlorine based bleaching agents

C.Using bicycle for travelling small distances

instead of using petrol/diesel based vehicles

D.Using plastic cans for nearly storing

substances


https://dl.doubtnut.com/l/_wLFmbyQ8LD0b

Answer: D

o Watch Video Solution

34. Which of the following acts as

propellants?

A. Lig.Hy+Liq.O,

B. Liq./N2+Liq.0O,

C. Lig.Ho+Liq.N

D. Ligq.O4+Liqg. Argon

Answer: A

rocket



https://dl.doubtnut.com/l/_wLFmbyQ8LD0b
https://dl.doubtnut.com/l/_V3CeIBcBHxDU

l QJ Watch Video Solution

35. When rain is accompanied by a thunderstorm,

the collected rain water will have a pH value

A.slightly lower than that of rain water without

thunderstorm

B. slightly higher than that of rain water without

thunderstorm

C. uninfluenced by occurrence of thunderstorm

D. which depends on amount of dust in air

Answer: A


https://dl.doubtnut.com/l/_V3CeIBcBHxDU
https://dl.doubtnut.com/l/_d03KcN24mg3y

° Watch Video Solution

36. The smog is essentially caused by the presence

of

A. 03 and N2

B. 02 and N2

C. Oxides of sulphur and NV,

D. 02 and 03

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_d03KcN24mg3y
https://dl.doubtnut.com/l/_DXEBTYSp7f0a

37.Ozone in stratosphere is depleted by:

A.CF,(Cl,

B. C7F16

Answer: A

o Watch Video Solution

38. Which of the following is responsible for

depletion of the ozone layer in the upper strata of


https://dl.doubtnut.com/l/_lSmcA2094GPg
https://dl.doubtnut.com/l/_h6fX3xaXSAoG

the atmosphere :-

A. Polyhalogens

B. Ferrocene

C. Fullerenes

D. Freons

Answer: D

o Watch Video Solution

39. Identify the wrong statements in the following:


https://dl.doubtnut.com/l/_h6fX3xaXSAoG
https://dl.doubtnut.com/l/_wCGtKNIHTV2h

A. Chlorofluorocarbons are responsible for ozone

layer depletion

B. Green house effect is responsible for global

warming

C. Ozone layer does not permit infrared from the

sun to reach the earth.

D.Acid rain is mostly because of oxides of

nitrogen and sulphur

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wCGtKNIHTV2h
https://dl.doubtnut.com/l/_W9S5wF2FxxNa

40. Identify the wrong statements in the following:

A. Oxides of nitrogen in the atmosphere can

cause the depletion of ozone layer

B. Ozone absorbs the intense ultraviolet

radiation of the sun

C. Depletion of ozone layer is because of its

chemical reactions with chlorofluoro alkanes

D. Ozone absorbs infra red radiations

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_W9S5wF2FxxNa

41. What is DDT among the following :

A. Green house gas
B. A fertilizer
C. Biodegradable pollutant

D. Non-biodegradable pollutant

Answer: D

o Watch Video Solution

42.The gas leaked from a storage tank of the Union

Carbide plant in Bhopal gas tragedy was



https://dl.doubtnut.com/l/_BVA3Mm98uY73
https://dl.doubtnut.com/l/_CTNFPaeTLVuH

A. Phosgene

B. Methyl isocyanate

C. Methyl amine

D. Ammonia

Answer: B

o Watch Video Solution

1. When heathly earth's stratosphere contains a low

concentration of ozone(Os) that absorbs


https://dl.doubtnut.com/l/_CTNFPaeTLVuH
https://dl.doubtnut.com/l/_ooFIuGfXzp0U

potentially harmful ultraviolet (UV) radiations by the

cycle shown below:

hv

0,+0
0,

Hea

Chloroflouro carbon refrigerants, such as freon
12(CF,Cly), are stable in lower atmosphere but in
the stratosphere, they absorb high energy UV
radiation to generate chlorine radicals.

CF,Cly —5 CRyCL + CI

The presence of small number of chlorine radicals


https://dl.doubtnut.com/l/_ooFIuGfXzp0U

appears to lower ozone concentrations dramatically.
The following reactions are all known to be
exothermic (except the one requiring light) and to
have high rate constant.
A:Cl—0—0—Cl—3 0, + 201

B:Cl, +0 — Oy + CU

C:Cl" +03 - Cl -0 + 0,y

D:2Cl-0 - Cl—-0—-0 -/l

Q. Ozone has the ability to absorb

A. UV radiations
B. electromagnetic radiations
C.CFC

D. green house gases


https://dl.doubtnut.com/l/_ooFIuGfXzp0U

Answer: A

o Watch Video Solution

2. When heathly earth's stratosphere contains a low
concentration of ozone(Os3) that absorbs
potentially harmful ultraviolet (UV) radiations by the

cycle shown below:

hv

0,+0

Hea


https://dl.doubtnut.com/l/_ooFIuGfXzp0U
https://dl.doubtnut.com/l/_NrdWdlEjvMoY

Chloroflouro carbon refrigerants, such as freon
12(CF,Cly), are stable in lower atmosphere but in
the stratosphere, they absorb high energy UV
radiation to generate chlorine radicals.

CF,Cly, —3 CF,Cl + Cl

The presence of small number of chlorine radicals
appears to lower ozone concentrations dramatically.
The following reactions are all known to be
exothermic (except the one requiring light) and to
have high rate constant.
A:Cl—0—0—Cl—3 0, +2CI

B:Cl,+0 — Oy + CU

CCl+O3—>Cl—O +02


https://dl.doubtnut.com/l/_NrdWdlEjvMoY

D:2Cl-0 - Cl-0-0-Cl

Q. Inceased UV radiations due to hole in ozone layer:

A. will cause increase in cases of skin diseases

B. will cause more ice to melt

C. will cause summer to be more warmer

D. will cause more rain

Answer: A

° Watch Video Solution

3. When heathly earth's stratosphere contains a low

concentration of ozone(Os) that absorbs


https://dl.doubtnut.com/l/_NrdWdlEjvMoY
https://dl.doubtnut.com/l/_APdI0OC2Cnr6

potentially harmful ultraviolet (UV) radiations by the

cycle shown below:

hv

0,+0
O,

Hea

Chloroflouro carbon refrigerants, such as freon
12(CF,Cly), are stable in lower atmosphere but in
the stratosphere, they absorb high energy UV
radiation to generate chlorine radicals.

CF,Cly —5 CRyCL + CI

The presence of small number of chlorine radicals


https://dl.doubtnut.com/l/_APdI0OC2Cnr6

appears to lower ozone concentrations dramatically.
The following reactions are all known to be
exothermic (except the one requiring light) and to
have high rate constant.
A:Cl—0—0—Cl—3 0, + 201

B:Cl, +0 — Oy + CU

C:Cl" +03 - Cl -0 + 0,y

D:2Cl-0 - Cl—-0—-0 -/l

Q. Ozone has the ability to absorb

A. UV radiations
B. electromagnetic radiations
C.CFC

D. green house gases


https://dl.doubtnut.com/l/_APdI0OC2Cnr6

Answer: A

o Watch Video Solution

4.When heathly earth's stratosphere contains a low
concentration of ozone(Os3) that absorbs
potentially harmful ultraviolet (UV) radiations by the

cycle shown below:

hv

0,+0

Hea


https://dl.doubtnut.com/l/_APdI0OC2Cnr6
https://dl.doubtnut.com/l/_wIZBzO6Q1N2i

Chloroflouro carbon refrigerants, such as freon
12(CF,Cly), are stable in lower atmosphere but in
the stratosphere, they absorb high energy UV
radiation to generate chlorine radicals.

CF,Cly, —3 CF,Cl + Cl

The presence of small number of chlorine radicals
appears to lower ozone concentrations dramatically.
The following reactions are all known to be
exothermic (except the one requiring light) and to
have high rate constant.
A:Cl—0—0—Cl—3 0, +2CI

B:Cl,+0 — Oy + CU

CCl+O3—>Cl—O +02


https://dl.doubtnut.com/l/_wIZBzO6Q1N2i

D:2Cl-0 - Cl—-0—-0-/Cl

Q. Ozone has the ability to absorb

A. will cause increase in cases of skin diseases

B. will cause more ice to melt

C. will cause summer to be more warmer

D. will cause more rain

Answer: A

° Watch Video Solution

One Or More Answer Is Are Correct


https://dl.doubtnut.com/l/_wIZBzO6Q1N2i
https://dl.doubtnut.com/l/_7piDrmmCpvDA

1. Which of the following conditions shows the

polluted enviorment ?

A. pH of rain water is 5.6

B. amount of carbondioxide in the atmosphere is

0.03%

C. biochemical oxygen demand 10ppm.

D. eutrophication

Answer: C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_7piDrmmCpvDA

2. Phosphate containing fertilisers cause water

pollution. Addition of such compounds in water

bodies causes. . ..

A. enhanced growth of algae

B. decrease in amount of dissolved oxygen in

water

C. deposition of calcium phosphate

D. increase in fish population

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_1leX10mrjbIK

3. The acids present in acid rain are

A. Peroxyacetylnitrate

B. H,CO4

C. HNO;

D. H,50,

Answer: B::C::D

o Watch Video Solution

4.The consequences of global warming may be


https://dl.doubtnut.com/l/_FUiKlHQoIIJ0
https://dl.doubtnut.com/l/_KtylbIktkb5p

A.increase in average temperature of the earth

B. melting of Himalayan Glaciers

C. increased biochemical oxygen demand

D. eutrophication

Answer: A::B

o Watch Video Solution

5. Which of the following conditions shows the

polluted enviorment ?

A. pH of rain water is 5.6


https://dl.doubtnut.com/l/_KtylbIktkb5p
https://dl.doubtnut.com/l/_PAW24OKwExlb

B. amount of carbondioxide in the atmosphere is

0.03%

C. biochemical oxygen demand 10ppm.

D. eutrophication

Answer: C::D

o Watch Video Solution

6. Phosphate containing fertilisers cause water
pollution. Addition of such compounds in water

bodies causes. . ..


https://dl.doubtnut.com/l/_PAW24OKwExlb
https://dl.doubtnut.com/l/_vXrIcH2lvL5s

A. enhanced growth of algae

B. decrease in amount of dissolved oxygen in

water

C. deposition of calcium phosphate

D. increase in fish population

Answer: A::B

o Watch Video Solution

7.The acids present in acid rain are

A. Peroxyacetylnitrate


https://dl.doubtnut.com/l/_vXrIcH2lvL5s
https://dl.doubtnut.com/l/_fWu9H7o0IpP2

B. H,CO4

C. HNO;

D. H, SO,

Answer: B::C::D

° Watch Video Solution

8. The consequences of global warming may be

A.increase in average temperature of the earth

B. melting of Himalayan Glaciers

C. increased biochemical oxygen demand


https://dl.doubtnut.com/l/_fWu9H7o0IpP2
https://dl.doubtnut.com/l/_xlz23FrSTexi

D. eutrophication

Answer: A::B

° Watch Video Solution

Match The Column

1. Column-l and Column-ll contains four entries each.

Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may

have the matching with one or more than one


https://dl.doubtnut.com/l/_xlz23FrSTexi
https://dl.doubtnut.com/l/_MddYdB11Mo40

entries of Column-lI

(A) Acid rain P CHAl,; —
(B) Photochemical smog (@ co
(C) Combination with haemoglobin (R) €O,
(D) Depletion of ozone layer ®) 30,
(T) Unsaturated hydrocarbons

° Watch Video Solution

2. Column-l and Column-Il contains four entries each.
Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may
have the matching with one or more than one

entries of Column-ll

£ — -

(A) Oxides of sulphur " (P) Global warming

(B) Nitrogen dioxide (Q) Damage to kidney
(C) Carbon dioxide " (R) ‘Blue baby’ syndrome
(D) Nitrate in drinking water ' (S) Respiratory diseases

(E) Lead (T) Red haze in traffic and congested areas



https://dl.doubtnut.com/l/_MddYdB11Mo40
https://dl.doubtnut.com/l/_kS8Uzc6Zgwqe

| o Watch Video Solution

3. Column-l and Column-Il contains four entries each.
Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may
have the matching with one or more than one

entries of Column-ll

(A}Mwﬂmhmd {P) Water pollution
ter burning waste material containing
sulphur
(B) Using carbamates as pesticides (Q) Photochemical smog, d to plant life,
; mndonmbuﬂdlngmurhlindmebtnm
ing problems, water pollution

(9] Usingsyndudrduuuanﬂﬁandﬁg (R) Damaging ozone layer

(D]"' i duced by automo-  (S) May cause nerve diseases in human
bﬂulndfmriuhthem
(E) Using chlorofluorocarbon compounds (T) Classical smog, acid rain, water pollution, in-
for cleaning computer parts duce breathing problems, damage to build-
ings, corrosion of metals

° Watch Video Solution



https://dl.doubtnut.com/l/_kS8Uzc6Zgwqe
https://dl.doubtnut.com/l/_OKLUH0ZjuRoi
https://dl.doubtnut.com/l/_Y0JQ2x1AVvh8

4. Column-l and Column-ll contains four entries each.
Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may
have the matching with one or more than one

entries of Column-ll

(A) Phosphate fertilizers in water (P) BOD level of water increases
(B) Methane in air (Q) Acid ran

(C) Synthetic detergents in water (R) Global warming

(D) Nitrogen oxides. in-air (S) Eutrophication

o Watch Video Solution

5. Column-l and Column-ll contains four entries each.
Entries of Column-l are to be matched with some

entries of Column-ll. Each entry of Column-l may


https://dl.doubtnut.com/l/_Y0JQ2x1AVvh8
https://dl.doubtnut.com/l/_zZuU8F6FIgdq

have the matching with one or more than one

entries of Column-ll

(A)Aadmn P CHQ,; —
(B) Photochemical smog (@ co
(C) Combination with haemoglobin R) CO,
(D) Depletion of ozone layer %) 0,

(T) Unsaturated hydrocarbons

o Watch Video Solution

6. Column-l and Column-Il contains four entries each.
Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may

have the matching with one or more than one


https://dl.doubtnut.com/l/_zZuU8F6FIgdq
https://dl.doubtnut.com/l/_O01dBpIqnmx0

entries of Column-lI

-

-

(A) Oxides of sulphur ' '(P) Global warming

(B) Nitrogen dioxide (Q) Damage to kidney

(C) Carbon diaxide " (R ‘Blue baby’ syndrome

(D) Nitrate in drinking water © (S) Respiratory diseases

(E) Lead (T) Red haze in traffic and congested areas

° Watch Video Solution

7. Column-l and Column-Il contains four entries each.
Entries of Column-l are to be matched with some
entries of Column-ll. Each entry of Column-l may
have the matching with one or more than one

entries of Column-ll

(A) Phosphate fertilizers in water (P)Dooleveldwmrw
(B) Methane in air (Q) Acid ran
(C) Synthetic detergents in water (R) Global warming

(D) Nitrogen oxides in-air {S) Eutrophication



https://dl.doubtnut.com/l/_O01dBpIqnmx0
https://dl.doubtnut.com/l/_ORRxKlzySV9X

| o Watch Video Solution

Assertion Reason Type Questions

1. Assertion (A) Green house effect was observed in

houses used to grow plants and these are made of
green glass.
Reason (R) Green house name has been given

because glass houses are made of green glass.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion


https://dl.doubtnut.com/l/_ORRxKlzySV9X
https://dl.doubtnut.com/l/_vIY4o1etxRfZ

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: C

° Watch Video Solution

2. Assertion (A) : The pH of acid rain is less than 5.6.

Reason (R) : Carbon dioxide present in the


https://dl.doubtnut.com/l/_vIY4o1etxRfZ
https://dl.doubtnut.com/l/_BCaYMonmnu3q

atmosphere dissolves in rain water and forms

carbonic acid.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BCaYMonmnu3q

3. Assertion (A) Photochemical smog is oxidising in
nature.
Reason (R) Phochemical smog contains NO5 and Oj
, Which are formed during the sequence of reactions.
A. If both assertion and reason are true and the
reason is the correct explanation of assertion
B. If both assertion and reason are true and the
reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_BCaYMonmnu3q
https://dl.doubtnut.com/l/_YvWeLQNh1Iz8

D. If assertion is false but reason is true

Answer: A

o Watch Video Solution

4. Assertion (A) : Carbon dioxide is one of the

important greenhouse gases.

Reson (R) : It is largely produced by respiratory

function of animals and plants.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion


https://dl.doubtnut.com/l/_YvWeLQNh1Iz8
https://dl.doubtnut.com/l/_kJPd1XWhdzmR

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: B

o Watch Video Solution

5. Assertion (A) : Ozone is destroyed by solar
radiation in upper streatosphere.

Reason (R) : Thinning of the ozone layer allows


https://dl.doubtnut.com/l/_kJPd1XWhdzmR
https://dl.doubtnut.com/l/_Sl0nBgDPi6JV

excessive UV radiations to reach the surface of

earth.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Sl0nBgDPi6JV

6. Assertion (A) : Excessive use of chlorinated

synthetic pesticides causes soil and water pollution.

Reason (R) : Such pesticides are non-biodegradable.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true


https://dl.doubtnut.com/l/_Sl0nBgDPi6JV
https://dl.doubtnut.com/l/_oeTg15J0BtuO

Answer: A

o Watch Video Solution

7. Assertion: If BOD level of water in a reservoir is
less than 5 ppm it is highly pollution.
Reason: High biological oxygen demand means low
activity of bacteria in water.
A. If both assertion and reason are true and the
reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of


https://dl.doubtnut.com/l/_oeTg15J0BtuO
https://dl.doubtnut.com/l/_4EGh70o6Jndc

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: C

° Watch Video Solution

8. Assertion (A) Green house effect was observed in
houses used to grow plants and these are made of
green glass.

Reason (R) Green house name has been given

because glass houses are made of green glass.


https://dl.doubtnut.com/l/_4EGh70o6Jndc
https://dl.doubtnut.com/l/_ly7PkGl5WkGh

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ly7PkGl5WkGh

9. Assertion (A) : The pH of acid rain is less than 5.6.

Reason (R) : Carbon dioxide present in the

atmosphere dissolves in rain water and forms

carbonic acid.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true


https://dl.doubtnut.com/l/_p4ybKNIyOZXb

Answer: B

o Watch Video Solution

10. Assertion (A) Photochemical smog is oxidising in

nature.
Reason (R) Phochemical smog contains NO5 and O;
, Wwhich are formed during the sequence of reactions.
A. If both assertion and reason are true and the
reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of


https://dl.doubtnut.com/l/_p4ybKNIyOZXb
https://dl.doubtnut.com/l/_Qu7YThlUfBct

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: A

° Watch Video Solution

11. Assertion (A) : Carbon dioxide is one of the
important greenhouse gases.
Reson (R) : It is largely produced by respiratory

function of animals and plants.


https://dl.doubtnut.com/l/_Qu7YThlUfBct
https://dl.doubtnut.com/l/_fN2mAzrRM3fk

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fN2mAzrRM3fk

12. Assertion (A) : Ozone is destroyed by solar

radiation in upper streatosphere.

Reason (R) : Thinning of the ozone layer allows

excessive UV radiations to reach the surface of

earth.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false


https://dl.doubtnut.com/l/_8huSkOHaFPWY

D. If assertion is false but reason is true

Answer: D

o Watch Video Solution

13. Assertion (A) : Excessive use of chlorinated

synthetic pesticides causes soil and water pollution.

Reason (R) : Such pesticides are non-biodegradable.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion


https://dl.doubtnut.com/l/_8huSkOHaFPWY
https://dl.doubtnut.com/l/_xXKYmIe5LuIq

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: A

o Watch Video Solution

14. Assertion: If BOD level of water in a reservoir is

less than 5 ppm it is highly pollution.


https://dl.doubtnut.com/l/_xXKYmIe5LuIq
https://dl.doubtnut.com/l/_eI6wWEOyqpZn

Reason: High biological oxygen demand means low

activity of bacteria in water.

A. If both assertion and reason are true and the

reason is the correct explanation of assertion

B. If both assertion and reason are true and the

reason is not the correct explanation of

assertion

C. If assertion is true but the reason is false

D. If assertion is false but reason is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eI6wWEOyqpZn



https://dl.doubtnut.com/l/_eI6wWEOyqpZn

